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l : Choose the most appropriate nm:r and DARKEN the cirele on the attached ANSWER SHEET.
Answer all questions. All questions carry equal marks.

1. Where will ........c.... go from here?

a) you us {c) me {d) them
(a) (b)
2. In asentence that begins with dependant clause, we place a .............. in the middle.
(a} semicolon {b) colon () full stop (d] comma
3. Identify the sentence that doesn’t have an adjective,
{a) The small dog barked. (b) We had chocolate milk.
{c] She had a red scarf. (d) Can we play volleyball?
4. But he found a friend .............. in his difficult hour.
{a) need (b} for (¢) In need (d) ought to
5. My parents caok dinner. Make It negative.
{a) My parents didn‘t cock dinner. (b) My parents don't cook dinner.
{c) My parents doesn’t caok dinner. (d) My parents will not cook dinner.
6. larrived ............ class on time.
{a) at (b) on {c)in {d) about
7. I'm worried, and ...........
(a) you are also (b} so are you (c) so do you {d) you too
g | have..... problem. Can you help me?
'  (a)the (b) an lc) 2 (d) No article
9, I'mnot frightened, and ... 1
| (a) nor are you (b) either you (¢) you either (d) not either you
10, Children are the delight ........... the house. ‘
(a) for (b) of (c]to (d) with
H.Whlch of the followings is passive voice?
~ (a) He may help me with the task, {b) He is known to all,
(c) Who has created this nuisance? (d) Someone stale my bag.
12, Everyone ......... the building was searched by the palice Ao
ta:laanter (b} entered (c) entering (d) ente
_Ill.- UAE IS ,iiinns Prosperous country.
(a) A, the (b) The, a e} A, an (d) The, the
4. | should like ....... tomorrow.
g (b) swimming (c) to swim (d} swum
ild you please ........ me your pen?
P {hi lent (c) lend (d) to lend
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‘=it wAsUNdergoes adiabatic o

a) decreasec Xpansion, Its internal energy .........
- ﬂte msss aFasi (b) Increases (e} remains the same  {d] None of these
v 2 substance libe

{c) power (d) temperature
34 |.“ stable nuclel. the relation between the n

TheEghin

umber of neutrons (N} and the number of protons 12} is

| (@AlN <z b)N>z [ClN=2 [dN =2z
35. The efficiency of Carnot engine depends on ..........,
E:; ::ﬂrlting substance (b) temperature of source
mperature of sink (d) temperature of both source and sink

36. The :
6. The phnmelgﬂrln_-aﬂgct on metal occurs only when frequency of the incident light is mare than its

R T

(a) stopping potential (b] threshold frequency
(c) eritical field {d) work function
37. ghen an electron is accelerated through a potential difference of 1,6 x 10° V, it acquires an energy
(a) 107 {b) 10 J (c) 2,56 x 10 (d) 1.6 x 10° J
38. The a:tgular momentum of a body of moment of inertia Iis L. Its kinetic energy 15 ...,
L e 2 iy 1
(a) — b) — = =12
I [ ly {c) 37 Itﬂzﬂr
39. B_all_pe'n functions on the principle of ...........
(a) Viscosity (b} Boyle's law (c) Gravitational force  (d) Surface tension
4I3Tpe temperature of a body rises by 25 °C. The increase on Fahrenheit scale would be ...........
(a) 25 °F (b) 45 °F {c) 100 °F (d) 180 °F
41. Three different capacitors are connected in series. Then ...
{Hlﬂie‘f will have equal charges (b} they will have same potential
fc)botha &b (d) None of these
42. An electric field can deflect ..
ul‘il] y-rays {b) et - parﬁn:ies (c) neutrons (d) ¥X-rays
43. In a compound microscope, the intermediate image is ..........
{a) virtual, erect and magnified (b) real, inverted and magnified
(c) real, erect and magnified (d) virtual, erect and reduced
a4, §I unit of surface integral of electric field is ...
(A v (b) Vm (.-:] NC'm (d) Cm?
45, In radioactive element, /i rays emit from ...
{ﬂ nucleus (b) outer orbit [c] inner orbit (d) None of these

46, The pressure exerted by a gas in a container is due to ..
Y fﬂmﬂiﬂm of the gas molecules with each other
(b) collisions of the gas molecules with the wall
ie) re J!chns of the gas molecules to give product

(d nfl.‘.e of gravity on the gas molecule

it makes the atomic mass fractional?
ber of unpaired electrons {b) Quantum number
Wave nature of electrons (d) Presence of isotopes
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" (c) Bloaching agent (d) Analysing agent

\ .m h-qﬁu v
[I:} Beryllium and Helium
(d) Fluorine and Chiorine

1 ~ (c) Alkenes (d) Alkyl halides
. :k;;l or used l‘nr ﬂlﬂtlnn ul' NH4OH and CH,CO0H is ..........
{.; nt w (b) Phenolphthaleln (¢} Both a and b (d) None of these
_..'-'“E q«gmm,ﬂ%m:mn energy?
: N iﬂa" B (d) O
: | {I:l D0 (d) H;0;
oft Eﬁhﬁ‘lﬁmlduulsnmpﬁulﬂiﬂ?
0 (b)Fe;05  (c)zn0 (d) Crs0y

100m! M-H;Stﬂ;rmluﬂnn s mixed with 100ml of M NaOH solution, the resulting solution will

(b) Alkaline (c) Neutral (d) Strongly alkaline

P‘F sodium carbonate anh-,rdrnus required to prepare one liter of N/10 sodium
: '“mﬂunhmﬂﬂ-"*

i (b) 5.3 grams {c) 10,3 grams (d) 12 grams
tlnr hydrogen gas is displaced by 5.95 g of unknown metal, the equivalent weight of metal

(b} 12.23 (c)23.8 (d)31.75
*El;arla’s l:w, the quantity which remains constant is ..........
g (b} Pressure (c) Temperature {d) Volume
hoor iﬂllhave the highest 2nd ionization energy?
@2 r:zﬁ":!:' (b) 15%2572p" (c) 153252 2p° (d) 15° 25 2p*3s?
Hm fnllmﬁng.mmp-uunds-dﬂres NOT cause hardness in water?

{b) Magnesium chloride
(d) Magnesium sulphate

ol ,__.gn,pgiﬁithn gives which of the followings?
b) Acetaldehyde  (c) Ether (d) Ethylene

of alkanes is an example of ..........,

{b} Eliminatian (c) Free radical (d) Addition
of atomic number 29 belongs to ..........
(b) p-block c) d-block (d) f-block

ratio '-;irf-\!n_l!upaﬂ_'gllﬁ, the chemical reaction Involving hydrogen in the presence of

:  (b) Hydrogenation (c) Dehydrogenation  (d) Oxidation



with the study of inheritance of characters is called ...

| {c) Evelution l.'lll Anmuy
W -~ o Hhﬁwmaigpundﬂmglutwslnm, ----- :
L \(b) Azolta {c) Nostoc (d) Lichens.
amen: areattached with petals, it is called a5 ...
: fbl Episepalous 1:},E|:Epmlmls (d) Gynandrous
I “ui,mu-l—rh
~ (b) Androecium (el Cal-,m (d) Gynoecium
Iﬁnlnﬂ,tha secondary nucleus forms ...
(b} Endosperm {c}Emhm (d) Cotyledons
mmﬂd h"‘hﬁ Lhabadinhe .
n‘lﬁt (b) Mitochondria  (¢) Nucleus (d) Ribosomes
5 Was first identified B :
e [h] Haranherg {c) Robert Brown (d) Hargobind Khorana
ich | has electronic transport system (ETS) Is e
f |b) Mitochondria (c) Centriole (d) Golgibodies
ants, the food s stored i ...
le’liihﬁm [h}«ll?le‘m (c)Sclerenchyma {d} Parenchyma
#ﬁwuaarmls is found I e
{h} Dicot stems. (c) Monocot stems (d) Gymnosperm stems

(c) Alexander Fleming  (d) C. ). Alexopoulos

AhEaER R

() Lymphocytes (d) Leucocytes

(b) First upright then inverted
(d) First inverted then upright

(b} Rara National Park
(d) Shivapuri National Park

(b} Both Haploid and Diploid Cell
{d} Reproductive Cell

(b} Cell's size
(d) Transmit hereditary characters

U'l;p]mﬁsﬂ h'f which atmospheric nitrogen converts into nitrates?
lb] ‘Ammonification  (c) Ozonization (d} Nitrogen fixation

2 whic lsahsunlln DNA is ........

() uracil (d) guanine
"‘i 3::-’4 of prothallus is .........
b ]mhe;nnla (c} antheridium |d) sporangia
(c) Phenalogy (d) Ichthyology
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(c) Prothallus.
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L mtﬁfﬂ“nﬂ in FHESEHH
.~{§} Pinus. tul-iquia
tosynthesis Is maximum in .......
-3 [cj Far-ﬂd light
(c) Fungt
pairs of milqina!euﬁirspldnr has?
(b) T (c) Three

he E‘emd hEﬂil't li‘l.ﬂ'ﬁﬂﬂt I e
. (c) Crocodiles

(c) leg muscle cells

(c) Shigella

vﬁﬁtﬁﬂhﬂﬂ the ﬂhvlum name 'Prntn:nﬁ“?-

. ._jhj' 'r' Grant  (b) Goldfuss (c) Gegenbaur
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{d) Quantum virus

(d) Both band ¢

(d) Al of these
(d) Zygote

(d) Spleen

(d) Flagella

{d) Sucrose

(d) Selaginella
(d) Blue light
(d) Green algae
(d) Eight.

{d; Tortolses

(d) heart-muscle cells

(d) Escherichia

(d) Lamarck
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